Similar Triangles

é\

" REVISE THIS
15 T

1 PQR and RST are similar triangles.
PQ is parallel to ST.
9cm Not drawn
P > Q accurately
6 cm
R
5cm
S > T
6 cm
1 (@) Workoutthe length of PR. [2 marks]

PR- 1 A%5

S 0 G

—@
o
e

Answer q- S cm

1 (b) Workoutthe length of RS. [2 marks]
RS - G RS= 6% 6
G 1 q

Answer ‘ cm
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2 EFG and GHI are similar triangles.
EF is parallel to HI.

12 cm

2 (a) Write down the size of angle GHI.

Not drawn
accurately

l\n&\e/ GH) = Angle A

Answer

2 (b)  Work out the length of EF.
EF- 13
\L \0

Answer

2 (c)  Work out the length of GI.

Gl = |0

—m—

FERIL

Answer

[1 mark]
gyl
[2 marks]
EF = 13xI2
10

g\\(o cm

[2 marks]

45 -
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3 ABC and ADE are straight lines.

BD is parallel to CE.

Not drawn
accurately

3 (@  Work out the length of CE.

[2 marks]

Ce - 1O CE= 20x3:5S

35 S S

Answer \ (+ cm
3 (b)  Work out the length of BC.e/x' [2 marks]
x,-\'L\“ = %9_, X+ ‘* = |é>

l > = \L

xr4% = A0x %
S
Answer \ L cm

Turn over »
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4 ADE is a right-angled triangle.
BC is parallel to DE.

A
Not drawn
10 cm accurately
6 cm
B s C
Y
1.5cm
D—I > E
4 (a)  Workoutthe length of DE. [2 marks]
DL - 235 DE=3}Sx?
g b G
Answer \ O cm
4 (b)  Work out the length of CE./ 2 [2 marks]
x+\0 = S XX10 =115
10 o A= 25
XrX\0 =3-S xI(0
G

Answer 1 ' 5 cm

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

oy r@ @1stclassmaths

5 ABC and ADE are straight lines.

BD is parallel to CE.

Not drawn
accurately

10 cm

e

5 (@  Work out the length of BC.

W+ b
G

- 18

|2

b = 23 X6

|2

Answer

5 (b)  Work out the length ofAD./ 3

ywx 0> A%
v

J

|2

\7.(\‘)« o) = by
lla + |20 = l%‘j

Answer
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xX+6 =l
X

"
(78

[3 marks]

cm

[3 marks]

\20 = \(95

y=

1S

S

cm

Turn over »
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6 ABC and EDC are straight lines.
AE is parallel to BD.
R X
B
Not drawn
accurately
10.5cm 15cm
9cm
E D 9 c
< 21cm >
L
6 (@) Workout the length of AB. « [2 marks]
X+|S = (0-S A+IS= 173§
\S q W = Q . S
x+1S = 0-S XIS
9
Answer l S cm
6 (b) Workout the length of ED. [3 marks]
f\‘v\(l DC/ %r&\: _%__ = _l 3: \8
2\ 0-s
3\. O\X&\ ED=Q\*\%
10- s
Answer 3 cm
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7 ABC and CDE are straight lines.
AE is parallel to BD.

A

p &
B Not drawn
accurately
2.8cm
C
BD:AE=1:3 _ ©
7 (a) Workoutthe length of AB. [2 marks]
x+2.-%3 = 3 x+2-8= %t
: I
2% x= S 6
x+ 28= Ix2Y
l
Answer S 6 cm
7 (b)  Work out the length of CD. [3 marks]
y =1

AN
3y = \3-\—6-'4'
’Lg) > Gl

Answer 12— cm

Turn over »
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8 ACE is a right-angled triangle.
AE is parallel to BD.

40 cm

Not drawn
accurately
AB:BC=7:3
e *
8 (a) Work outthe length of BD. [3 marks]
x = 5
——
4o |0
x= I*xYO
10O
Answer \’)" cm
8 (b)  Work out the length of DE. & 3 [3 marks]

y+13 = 1O Tu= 126
\% L %; 2

’L(:THM- 80
’!>§j xSt =180

Answer L\— L cm
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9 ADE is a right-angled triangle.
BC is parallel to DE.

D
Not drawn
accurately
A 15cm
10 cm
A '_E
C 12 cm

Work out the length of AB.
Find AC Grsk

x+\1L = \S

—_—

K [0

10 (oer12) = S
[Ox+120=1Sx
170 = S=

x = Ll

Answer

[5 marks]

P\RL= AC CBl

AR "= 4™ +
AR™ 636
AR = (626
AR = o

pua
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10

A

ACEG and BCDF are straight lines.
AB, DE and FG are parallel lines.

10

E
ﬁcm
G

11.25cm

Work out the length of DF.

A +LS <= s

15

1 S(xx29)=\1-15x
31Sx +183S (1S 2

Z+h -
G

Z44 = |1-2S x4

www. 1stclassmaths.com

((Z '—'}S = 1'}37{,

x= S

- 2§
¥5

1S

Answer

© 1stclassmaths

= 5
6w &
v: Sx6Y

cm

Not drawn
accurately

[5 marks]
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